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Which country is known as the Rice-Bowl of Asia
a. China b. Thailand

¢. Bangladesh d. Indonesia

Cities having more than 5 million population are known as

a. Hyper city b. Metropolitan city
¢. Mega city d. Super city
Tribal people practice shifting cultivation primarily because
a. Soil fertility gets reduced after a few b. The forest re-establish itself in a few
years years
c. People prefer migratory life d. Land is left fallow to regain its
fertility

Which city is a hub of Petrochemical Industries?
a. Delhi b. Mumbai
c. Kolkata d. Ahmedabad

What is the ‘Replacement Fertility Level’ in India?
a. 21 b. 2.0
G 22 d. 1.8

Which Indian State has the lowest population density?
a. Assam b. Uttar Pradesh
c. Kerala d. Arunachal Pradesh

Which of the following is a ‘Positive Check’ according to Malthus?
a. Late Marriage b. Celibacy
c. Earthquakes d. Government Policies

According to the * National Population Policy, 1976”, the main objective was to
achieve a stable population by-

a. 2045 b. 2024

¢ 2040 d. 2023

The rapid spatial expansion of an Urban Area is termed as?
a. Urbanisation b. Urbanism
¢. Urban Development d. Urban Sprawl

Consider the following statements:

1) The World’s cities occupy just 3% of the Earth’s land.

2) The World’s cities account for 75% of Carbon Emission.
Chose the correct code:

a. 1only b. 2only

c¢. Bothland2 d. Neither 1 nor 2
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Consider the following statements about ‘Smart Cities Mission’
1) The objective of Smart Cities Mission is to work for sustainable and inclusive

development.
2) Through this Mission the Government provides financial aid to the unem ploved

vouths.

Chose the correct code:
a. 1only b. 2only

¢. Both1land?2 d. Neither 1 nor 2

Which of the following is not a ‘Sponge City'?

a. New York b. Delhi

c. Shanghai d. Cardiff
Consider the following pairs:

a) Sundargarh Odisha

b) Madurai Tamil Nadu

c) Salem Karnataka

d) Serampur West Bengal

How many pairs are correctly matched?

a. Only 1 pair b. Only 2 pairs
¢. Only 3 pairs d. All the pairs

— m— ——
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